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Question 1

QO gm 2obBoMEHGds: 0@IOIEMMO 5060 9)HMEYds S0ML, MMIWOl JmEg3MEgdo
3obobogds, Mmam®mE 60300960 FgOE0Wwgdo, GMmIgEwms JmMob MOHDogMm]dggds ---

Select one:

a. 3GOILYMBOE0S, X bYdoL dmdgb@ol QoM
b. 85dbodserey®os

C. 306005¢M00s

d. 3594L0BoEMM0S, X BIOOL FMIIBEHOL SO

Question 2

LM MEHMO0 5699 gMIME0b5303MM0 398396M5G MOl godmbomgzergwn
— 217 =

RMEOHIMEsdo T= 3k W , ©5 bowowgs W :

Select one:

a. bsfows39dol ®bgz000 dMmdMomdol 3obgEolzm®Mmo gbgmaos

b. Bsffoes3980l dmIGomdol bydmagrm gbyGHy0s

C. bsfos3900L 45053sb0mo dmdmsmdols gbgyos

d. 6503900l 355¢960m0 ImdMmsMmdOL Lsdwgscm 30693H03Mc0 gbgMyos

Question 3
3950Bogo M 3oL 0YsMMO 50MOL FEYMI>MIMBOL Fobsliosmgdgwo 3 35MsdgEHMOl
9ONMIWOMDOS

Select one:

a. U LboBdoty, O sBgstrgds, P G930

b. V cgrymeds, P §693s, G sRdstrgds

c.d oBgo69ds, T sdbmeE ™o G9d3gMs@cs, P (1693
d. P §6935, V dmgmemmds, T odbmeo@meo ¢9339Ge@a@s

Question 4
1 9m@0 00goEMMHO 50MHOL Bobolinsmgdge 3sGsdgEMadL (6935, dmEmwmds,
A993905¢5) FmMob 3538060 obolyBE3MHGds 3obmboom:

Selg%’g one:
" “=consl

Tr__
b, P—canﬂt


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T%3D%5Cfrac%7B2%7D%7B3k%7D%5Cbar%20W
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbar%20W
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%5Cvec%7Bv%7D%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%5Cvec%7Ba%7D%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%5Cvec%7Ba%7D%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%5Cvec%7Ba%7D%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7BPV%7D%7BT%7D%7B%3D%7D%7Bconst%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7BT%7D%7BP%7D%7B%3D%7D%7Bconst%7D
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Question 5
QO go 206G Egds:

00 LoBJsMgl, OHMAOMSE ddEMmsz0 IME)39gdol MoEb3o MOEILOs, 9HmEIds ----- .

Select one:

a. LydMsem LoBdstg

b. LsdseM 335G Mo Lokdsdy
C. 995¢dsmgbo Lokdstmg

d. 33500Ms@M@o Lohdsmg

Question 6
1 3900 0@ 5060 Jobogsbo 969Ma0s 35dmolsbgds BMGIM@om (I sMols
9m939wol Ms30LvRwgdol boGolbo, R - 50600 16039OLsMEO 39©d03s):

Select one:

2. U= i%%

o U= 4T

U =3RT

0.U =57

Question 7

11 dsbol IJmbg 36)({)0@)0180060 5060L d0bs2560 9bgMAo0l godmdbobggwn
RMOIMEsdo U= %!ﬂ_f ; 65 LOEOIS R:
Select one:

a. 5060l I3 MdS

b. 5060l bogg®Lsww®o 3900035

C. 5060l IM93@ol M5Eolo

d. 5060b dmem®o sk

Question 8

09HIM©0b5d030L 30639000 356Mmbo 25dMoLEbgds BMMHIMEom (dQ 5oL LobEgdsby
295005393990 MbsbOmmmE d3oMg Lomdm, A - LolEgdol doge Jglemwmgdwo
MLsLOMEm© 8306y 3/3omdy, U - LobiGgdob Bobsgebo 9bgeaos):

Select one;iU
a. dQ = dA
b dQ = dU - dA


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7BV%7D%7BTP%7D%7B%3D%7D%7Bconst%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7BP%7D%7BTV%7D%7B%3D%7D%7Bconst%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=i
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=R
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=U%3Di%5Cfrac%7B3%7D%7B2%7D%20%5Cfrac%7BT%7D%7BR%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=U%3D%5Cfrac%7Bi%7D%7B2%7DT
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=U%3D%5Cfrac%7Bi%7D%7B2%7DRT
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=U%3D%5Cfrac%7Bi%7D%7B2%7D%20%5Cfrac%7BR%7D%7BT%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=U%3D%5Cfrac%7B3%7D%7B2%7D%5Cfrac%7Bm%7D%7B%5Cmu%7DRT%20
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=R
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=dQ
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=dA
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=U
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=dQ%3D%5Cfrac%7BdU%7D%7BdA%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=dQ%3DdU%20%5Ccdot%20dA
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dA
& dQ = 3
4. dQ = dU +dA
Question 9
LOMOMYPSH39> FoMTMoYIBL F0IMOMIOMEIBYOOL GOPMIEOMISL, MMAwgdoi 0()39396

9696200l 250539956 9O BBYIMW0EIH JgNMIHY. LOMOdMYSWI(393d> bMEMF09EXIOS
(8mb08bgom 3 3s5Lgbo):

Select one or more:
a. 3OWIIPYO0IGOOM
b. dmd@omdom

C. LOPOMYSIEHIMOMOO
d. 3mbgzgdgoom

€. 250mbboggdom

Question 10
BOMIML BoMIbMdL, MMIgwoi LoFoMms EBMdOL 3HYa3gMsdEmsby gomgmewro dsbol

360LEGHIWMOO bLbgmeol 4olobmds ghmgds:

Select one:

a. 5mMOHmgwgdol 37mOHO LOMdIM
b. @bmdoL 3MmGo Lomdm

C. 5Ol LoMdM

d. ©bmdol Lomdm

Question 11
BOMIML MOMOYbMdL, MMIgmoa LsFoMmms MOl Fgddghs@MsBHy 9Hmgo dsbols

Ubgeols sbomOHmMJgds gfimgds:
Select one:

a. @bmdOL 3OO LoMdM

b. ©@bmdob Lomdm

C. 50OHmJargdol Lomdm

d. 506mdwgdol 39m®o LoMd®

Question 12

QO go 296 EGds: 9E9dBGOMLEG03M0 390 9hHmgds 39w, OMmdgois ----- .
Select one:

a. 8949bogos ©dM530 gaegd@®eo dMbEom

b. 56&lgdmdL gemgddGeo ©gbols 3s6&Bgdm


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=dQ%3D%5Cfrac%7BdA%7D%7BdU%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=dQ%3DdU%2BdA
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C. d9ddbocros dmd®s30 gegd@®eo dMbEom
d. o®LgdMBL Fa60EHMOO 0LIMOL ASMGTGIM

Question 13

99IOOMBEGHOIZNMO 3gerol Fgbsbfisgrs ggwrdo dgoggm:
Select one:

a. ©9bosbo godGHsMH0o

b. ©9gbosbo BsGhm

C. LsLobxo ghmgmwmgsbo db@o

d. 35360¢wc0 obato

Question 14

QILOMEgM: GegdBHOME0 3900 3MOR03YWOE JodMOLIbYdS ---

Select one:

a. 35659 mmo oMgdom

b. 390l foMgdom

C. 3mb3gb@®mmo fomgdoo

d. 99dBHHMo 390l ©35dIEMmdOL dsefoMgdom

Question 15
39905390 9MMBgNL J5bLDBP3MGdqdO:

13090379600 LOWOY Answer 1| Choose...

5300379600 dm3ze9bs Answer 2| Choose...

398%Bmdo bgwbsfym Answer 3| Choose...

B0D0371M0 LoEWOEOL JOMIMIWO Answer 4| Choose...
Question 16

9099dGHOMo 03MmEo §fjcmEgds Loli@gdal, MH™IgEoaE 99ygds:
Select one:

a. LOEOEOM BHMEO s gHMbI0MO BOTBOL IJmbg MO FMbBEOLYD

b. 9665060 60860L dJmby M@0 dMbEOLSE

C. bbgoolibgs Loowol dJmbg m®mo dMbEolysh

d. LoEOOM GHMEWOo s Lbgsalbgs Bodbol dJmby MmO FmbEHolysb

Question 17
39Lsdsdgm 9MmIsbgmL:

BOMOQO Answer 1| Choose.. -

Led Lot L] L



RS RS R

RS IS R

9299 HMO™GHI350MIS Answer 2| Choose... j

3o@@)OOO Answer 3| S -

Question 18

603000969d0L dobss 560 1ML, deagweyo Bsbs - M, s3mpsO™L Gogbgo - N A,
603009690580 9985350 53O0l (893 gdol) MoEbgzo GHmeos:

Select one:

L N=%N,

b. N=mMN,
o« N=%Na

o N=2aMm

T

Question 19

3930:5M0@00 ®v) 33oM0: “Imeg30®-30693H03900 MIMOOOL GOM-9gHMO
90900l Mbsbds Lbgeols 39850969 Bsfioes3zgdls dmmol Imgdggdl
80b030Ls s 356%BoE30L dogrgdo™.

Select one:
True

False

Question 20
39560B09gm 0©JOMM0 506093030l 0DM3MM(39LYdOL TgusdsFoLO ILIBYWYdYdO:

P=const answer 1| S 7|
T=const Answer 2 coose-  ~|

V=const answer 3l e 7

Question 21
96»bs06 60dbosbo gagd@Mmeo 3mb@gdol gargdGHO™mUEsGH03MM0 MOHm0gMHmNIIgIooL
doy:

Select one:
a F=0
b F <0
c.l*:"b-{]
d. F =oc

Question 22
d97L505990 LOAdMWMYGdO s LOWOWYIO0 JPMAbIDL -

F Answer 1| Choose... -]
4 Answer 2| Choose... -]



http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=M
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=N_A
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7BN%7D%7B%3D%7D%7B%5Cfrac%20%7BM%7D%7Bm%7D%7D%7BN_A%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7BN%7D%7B%3D%7D%7BmM%7BN_A%7D%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7BN%7D%7B%3D%7D%7B%5Cfrac%20%7Bm%7D%7BM%7D%7D%7BN_A%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7BN%7D%7B%3D%7D%7B%5Cfrac%20%7BN_A%7D%7Bm%7D%7D%7BM%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7BP%7D%7B%3D%7D%7Bconst%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7BT%7D%7B%3D%7D%7Bconst%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7BV%7D%7B%3D%7D%7Bconst%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20F%3D%200
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20F%20%5Cprec%200
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20F%20%5Csucc%200
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20F%3D%20%5Cinfty
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20E
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=q

RS IS R

NAnswer 3| Choose... j

© Answer 4| Sose- |

Question 23

999dGHOMLEGH03MM0 39e0L 3mGHI6E05E0 godmobsbgds BM@MIMEOm W séro0b
339630t 9bgMyos):

Select one:
— o
a. ¥ = w
W
b P =&
c.v=Wq
— W
.9 %
Question 24

3980:500@05 ®vg 33oM0: "9e9dBHOMLEAEGH03M 3980 ©ESFVMWMIOL (0MILIESFOS
296Lb353900s 6YE0ologs6".
Select one:

True

False

Question 25
0BOEOM3M ©EO0gIHO0Z3I080 3ms®obs300lL 39dBHm®0 (S LolEgsdo) @meos (

X 0099430370 50m30L9d™ds)

Select one:

a. = XEo
o. P = xeo Ll
c. P =xE

a. P =xE
Question 26

93999 LOFdMEWMYOL FJMLsdSTYD 530560 LI Gd9dO:

C' Answer 1| Choose...
5‘9 Answer 2| Choose...
N Answer 3| Choose...

F Answer 4| Choose...

Led Led Lo Lo


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=N
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvarphi
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=W
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvarphi%3D%5Cfrac%7Bq_0%7D%7BW%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvarphi%3D%5Cfrac%7BW%7D%7Bq_0%5E2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvarphi%3DW%20q_o
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvarphi%3D%5Cfrac%7BW%7D%7Bq_0%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=SI
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%20%5Cchi%20
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20P%3D%5Cchi%20%5Cvarepsilon_o%20%20E%20
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20P%3D%5Cchi%20%5Cvarepsilon_o%5Cvec%20E%20
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20P%3D%5Cchi%20%20%20E%20
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20P%3D%5Cchi%20%20%5Cvec%20E%20
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=C
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvarphi
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=N
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BE%7D

Question 27

296L5%B3Mgm Fysedsol (M = 0.002 33/0me0) 393990l 2JoedSMGLO
LoBdotg V, 340K 39939Mo@H@ebg. R=8.31 x.aMo0/dme (39wdo Bsfadgom
dbmermo Hogbgo 395690l LoBMLE M. Bsgswoms 1.23)

Answer:|

Question 28

0.1 33 95Lob yoboyewobls 653960 Be®IsewmE®  5EIMbGgOHe iBg35bs s 0°C-%by
295b9L. 4obmol @bmdOL 3Mm®o Lomdms 335000x%/3g. ML MOMOL
96¢®Mm300L 330w gds. (39edo BsfigMgo dbmermo Mogbgo dgolgol
LoBMLEGHOom. dog. 1.23).

Answer:|

Question 29

03M3900 9OMG™I0560 0©JoeMHO 50M0L 3gd3gMsEMGs (393069d80), ovy dobo
2900556000 dMAM5MBOL Ladswm 30693039M0 969MR00L Loowgs 426K, Losg k
560b dEEds6oL 3dogs (3gwdo Bsfggm dbmeme Gogbgo, dog. 1,23):

Answer:|

Question 30

50009b%x96M 99033 gds H9OEGH0wm3560 IMbE ol 39e0L sdsdIMdY, v
399bG0 250DMYds 2.0-x96 ©s ' 899300©90s 4.0-x%96. ( 39do Bsfotgm
dbmemo Mogbgo. dsy. 1.23 ).

Answer:|

Question 31

599X 9O 890330905 F9MEH0w™3z560 dmbEol 39eol ASDIMBS, 01Uy
39bE0 250DMYds 10-%9M ©s ' 2o0BMEYds 3-x96. ( 39do Bsfocgm
abmemo Hogbgo d95L9oL LoBMLEHom. Bsy.1.23).

Answer:|

Question 32

B5393H0w0 B9gs3060L dogaboo Immogligdwo FgdEowmgzgsbo dmbEol
Loogs 1.103. 9egdBHeyeo 3geol 6535000L Lo Fo0BsMs M-%9O,
MOME5 Bs30600L Joabom Jmomogligl 300093 MmMo 3MbE0, MHMIGEMS
L0OEY9d0s: 27.103 s -1.10-93. 2obLsBE3Mgmn M-0l I60d3z69eMdS o
B9 dmboigdoms 39ewdo( 3sg.1.234).

Answer:|


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Ccdot
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Ccdot
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Ccdot

Question 33
03M390 3Mbgblo@MmMol g 390l gbgMaos, ™ 3mbgbLsE™MGOOL

999GHOMEHJ35MdSS 7 8g3, beagoe dsdgs 1183. ( 39edo BsfgMgom dbmeme
®oEbz0 395090L LobMLEBHom. dog: 1.23)

Answer:l



